LIEh

F

S
=

(070-4760-1201)
oA e E

St DL FXHZ H|

2l
28¢Y

1

=]

| S
AlZ+ of
g,

7t

—

[

—

—

HE

|7t |

e
Ak
=

A HEL

.I

—
o

(070-4760-0712)
S| Kf
CC

Of
M el 7t

CHet ojc|of

7/21, 7/22, 7/28 & Y H|ILIE E3|

|2t
F

-1
—

—

3
[}

(L

3|

=

-
o

o

x

7t
[

1|

A==
=

=

=

Aol
CHQ} 742t

tet, S

F

=

7tet(olst ‘Ftet, Ch

-
[e)

20219 78 18(®)

=
- 3=

1

ol
o=
10

4
ujn

~NO
fall

M
Ay

o OjE|of

¢ olt|of

X 871

ol
i

= &

[al0)

| ofit A

ol
~NO

ol

I.

Ct. DX

3

Jod

o=

K

F2| AR}

ER

rhl
Ho
n

ol

Stot. At

—

=)

PoF AE Tt

S stet ALto] 2S5}
x
[ )

=1

=

S2EE
=0l

loate =L

[m]
[

A Al

| O] K] (www.ekara.org) Ol A1

11

1

AlO

ST
=

t

pr
[

ap ofcjofof

y

Ss=dds 7tet

Ol

slat S22 o

HIH® &z 'S=cttiet ojto

ARAE OJZE 2t

o

—

I

/ #L0|

u]
[y

o

LS

Of4
of

—

(S=ctthiet njcjof) ety

D 7/21(=F), 7/22(%), 7/28(%) MY 7AI~9A|(3%)
Ol ZOt7t

38(7/28 ) ofifot $HLE S UK

S
=

=

Hak OjEofof 2 s Al
st

=
=

24(7/22 =) O|C|of

=
S

IAl

(o]
=




Stoiet OjC|of (ZAHGY ver, 83)

-1 0

et DIE|o] (ZTO[X| ver, 27)

AE. SEstTiet DiC|o] (FAIAE

~

721(3), 7/22(R), 7/28(%)

N Y 7AL- 94l

g SEA 0|c|ofof A U= Al
HESEA

€ njrjo] 2ol 2o

32
7/28(%) 19A]

7/28() 194

€ ol g AW Bl QA 97 <1 o] % Y € oym e A 17 @7 S1gk vi)o] 3%



https://www.ekara.org/activity/education/read/14633
mailto:info@ekara.org

2
7213 194

]

€€ njr)o] Zojl A 2o

32

7/28(3) 1941

€ olmar A 947] g1k o]

7/21(%), 7/22(), 7/28(2)

XL 74 - 9A|

SEA3 0|C]ojof 2y s AR
Ma5EA




